SAR@US AMaTeh THUT T TRIET0T IRwe, <, SRS

JUH Hrafeier q{&lr 2021-22
Alse 9T U Je-3
setr - 11 fawe - T TAY - 1 der 30 fire quiteh - 35
- g3 9T & 3R AfATT §
» el 35 9 B |
« A 92T & foIv 1 37 eTRa &1

U 9T o IR [ashed feu a1w §| Ter [ashed &1 I3 fifav|

« T 3T F T FIS 37eh QT hIe ST |

1. Which of the following compounds has
same emperical formula as that of
Glucose?

a.
b.
C.
d.

CH;CHO
CH;COOH
CH;OH
CoHe

2. The following quantum numbers are
possible for how many orbitals?
n=3, I=2, m=+2
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3.  Which has maximum number of atoms?

a.
b.
C.
d.

24gm of C (12)

56 gm of Fe (56)
27gm of Al (27)
108 gm of Ag (108)

4. The total number of atoms represented by
the compound CuS0,4.5H,0

a.

b.
C.
d

27
21
5
8

1. g18 @ it A1 AR T FATeare g
TIhIST & HAT &2
a. CH,;CHO
b. CH;COOH

c. CH;OH
d. C;Hs

2. ThdeY 3U-sheTent o foTw et FaiecH
TEIT g9 g7
n=3, 1=2, m=+2
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3. 3oAH O fohad qRATL3IT Y dEar
3R aa g2
a. C(l2)Fr24aH
b. Fe (56) T 56 ATH
c. Al(Q27)&T27 IMH
d. Ag (108) T 108 ITH

4. AMAH CuS0,.5H,0 H Fel AU T
qEAT B
a. 27
b. 21

c. 5
d 8




10.

Group 1A elements are called
a. Alkali metals

b. Alkaline earth metals

c. Transition metals

d. Inner transition metals

An element with atomic number 20 is
placed in which period of the periodic
table?
a. 4

b. 3
c. 2
d 1

The total number of ions present in 111gm
of CaCl, is
a. 1mole
b. 2mole
c. 3mole
d. 4 mole

The electronic configuration of Cr (Z=24)
a. [Ar] 3d%4s?

b. [Ar] 3d°4s!

c. [Ar] 3d%4s°

d. [Ar] 3d%4s®4p?

The maximum number of electrons in a
subshell for which 1=3 is,

a. 14

b. 10

c. 8

d 4

The most electronegative element of the
periodic table is

a. lodine

b. Sulphur
c. Oxygen
d. Fluorine
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I IIA & dcal T ed &
a. &g erg

b. &TRYT FeT a1

c. HHHAUT U]
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111 ITH CaCl, H 3YTEUT Fel 3T Y
HEATE:
a. 1#d
b. 2 &l
c. 3H
d. 4 &

Cr (Z=24) & SoiecTioresh AR &
a. [Ar] 3d%s?

b. [Ar] 3d°4s’

c. [Ar] 3d%s°

d. [Ar] 3d%4s®4p®

1=3 & ToIT 3U-ThaTeh H Seldgioll I
3R dH TE&ATE:

a. 14

b. 10




11.

12.

13.

14.

15.

16.

Which of the following is not correct?
a. 1atm=760mm of Hg

b. 1atm=760 torr

c. latm=1.01 bar

d. latm=1.01Pa

Formula of Gypsum salt is:
d. CaSO42H20

b. CaS0,.1/2H,0

c. 2CaS0O,H,0

d. CaSiO;

Which of the following pairs contains
gases heavier than N.,.

a. CO,, SO,

b. SO, He

c. He H,

d. Dry air, SO,

CaC, reacts with water to give
a. Methane

b. Ethane

c. Ethylene

d. Acetylene

What is the volume occupied by 8.8g of
CO, at 31.1°C and 1 bar pressure?
R=0.083 bar LK mol™

50.5L

60.5L

5.05L

6.05L
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IUPAC name of the compound is:

CHs
|
CHg- CH-CH-CH,

|
CoHs

2-ethyl-3-methylbutane
2-isopropylbutane

11. ST & PleT AT TEY T &2

a. 1atm=760mm of Hg
b. 1atm= 760 torr
c. latm=1.01bar
d. latm=1.01Pa

12. TSTCHH oIq0T T g3 ¢

a. CaSO42H20
b. CaS0,1/2H,0
C. 2C3.SO4H20
d. CaSiO;

13. fAr=faf@d grAl A A qg hlT AT LTA &
Saa gt N, T T e g2
a. CO,, SO,
b. SO, He
c. He H,
d. e arg, SO,

14. CaC,, STeT & TT TATHAT el WX ST
g

a. @da

b. AT

c. SfeleT

d. ufadeer

15. 31.1°C AT9shA TG 1 bar &I IR 8.8 ITH
CO, T HTI A gIaT:
R=0.083 bar LL™* mol*
a. 505X
b. 60.5 e
c. 5.053eX
d. 6.053%eT

16. IifAT T IUPAC ATH §:
CH,

|
CH,- CH-CH-CH,

|
CoHs

a. 2-UfAe-3-AfAeTsgeT
b. 2-3MSHAITAeTg e




17.

18.

19.

20.

21.

22.

3,4-dimethylpentane
2, 3-dimethylpentane

The most stable free radical among the
following is

a. CgH¢CH,CH,

b. Ce¢HsC'HCH;

c. CHzC'H2

d. CH3;CHCHg;

Which of the following metal is not
manufactured by electrolysis?

a. Na

b. Mg
c. Al
d. Fe

In the molecule HC=C-CH=CH, the
hybridization of C-C bond is,

a. sp-sp’

b. sp’-sp®
c. spsp?
d. sp>sp

When Washing soda is heated:
a. COisreleased

b. CO and CO, is released

c. CO,isreleased

d. Water vapour is released

Numbers of atoms of oxygen present in
10.6g Na,CO; will be:

a. 6.02x10%

b. 12.04 x 10%

c. 1.806x 10%

d. 31.80 x 10%

Which one of the following pairs of ions
have the same electronic configuration?
a. Cr¥ Fe*

b. Fe* Mn?

c. Fe* Co*

d. sc® cr¥

17.

18.

19.

20.

21.

22

3,4-3TSATIeeA
2,3-3IsATAIIe

SoTH § hleT AT HFA-HeToh IcdfeHh
AR 82

CSHGCHZC.HZ

CeHsC'HCH,

CH,C'H2

CH4C'HCH,

goTH A hlef AT T faYd 3rqeresT ganT
STET FeATAT SATcT &7

a. Na

b. Mg

c. Al
d. Fe

oo oo

HC=C-CH=CH, 39T & C-C J&J T HI0T

sp-sp?

sp3-sp®

sp®-sp?

sp3-sp

&1TqeT AIST T IH et T
CO fAserar gl

CO 3R Cco, AFarar gl
CO, e g

SToT arsg fAherar &1

a0 oo oy
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10.6 TTH Na,CO, H 3ufEUd it
qwugﬁaﬁm'we’nﬁ:

a. 6.02 x 10%

b. 12.04 x 10%

c. 1.806 x 10%
d. 31.80x 10%

. 318 W o5 3Tl & IH T ol feieh
sifAfaeara TaT=T ghom 2
a. Cr* Fe*
b. Fe**, Mn*
c. Fe*, co*
d




23.

24.

25.

26.

27.

The ratio of the radii of 1% orbit of H, He*

and Li** is
a. 1:2:3
b. 6:3:2
c. 1:4:9
d 941

The ratio of number of moles of solute to
the total number of moles in solution is
called:

a. Molality

b. Molarity

c. Mole fraction
d. Normality

No two electrons in an atom can have same
set of all the four quantum number is:

a. Hund’srule

b. Aufbau rule

c. Pauli’s exclusion principle

d. None of these

Boyle’s law of gases gives relationship
between

a. Pressure and Volume

b. Volume and Temperature

c. Pressure and Temperature

d. Volume and number of moles

Three containers A, B and C of equal
volume contain oxygen , neon and methane
respectively at same temperature and
pressure. The increasing order of their
masses is:

a. A<B<C

b. B<C<A
c. C<B<A
d. C<A<B

23. H, He' 3R Li* 92H et iy Bzt

T 3eTUTd 8
a. 1:2:3
b. 6:3:2
c. 1:4:9
d 941

24. frdY faerae & o fr Al va faeaaT
ﬁzrqﬁa?r?rmﬁr@rmm%agw
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a. Alereldr
b. FYeRdr
c. ATT-THTSA
d. sTeerar

25. ToRdT TRAT] H &l Selerciall &hl TRT FaicH
TEIT T AT THTA oTa T g1 Thell- Tg
HU Thad HaTd &

a §Ug$r1?|'mﬂr

b. 3iThaT3 T fATer

c. Ui3cll T Iqdoiel TAeHTd
d. SoTH & IS gl

26. S1Fe 1 T AT 58 A fFass S
a. GIidd3IATIdd
b. 3T T ATIHTA
C
d

ACK RS EIGl
3T g Al hr g&aT

27. Teh AT AT dTel AT I A, BTG C
H A 3Terdars, [F37 3R fFda
Wawvéarawmgsﬂ%‘,a’rm
9¢.d e H geIHATT g
a. A<B<C
b. B<C<A

c. C<B<A
d. C<A<B




28.

29.

30.

31.

32.

33.

K™ ion is isoelectronic with
a. Na’

b. Ne

c. Cs'

d. Ar

Which of the following is not an
electrophile?

a. CI'
b. CI
c. H
d. BF;

Heterolytic cleavage of C—X bond may
result in the formation of:

a. Free radical

b. Carbocation
c. Carbene

d. None of these

The correct order of decreasing first
ionization energy is :

a. C>B>Be>Li

b. C>Be>B>Li

c. B>C>Be>Li

d. Be>Li>B>C

Aldehydes and Ketones are:
a. Functional group isomer
b. Chain isomer

c. Ring chain isomer

d. Position isomer

The correct sequence of atomic radii is :
a. Na>Mg>Al>Si
b. AI>Si>Na>Mg
c. Si>AlI>Mg>Na
d. Si>AlI>Na>Mg

28.

29.

30.

31.

32.

33.

SoTH | K* 3T fohdeh A1 9H-

Solaeliele ¢

a. Na'

b. Ne

c. Cs'

a. Ar

SoTH O leT TT SolTFclol ToIgT oTel &7
a. CI

b. CI

c. H

a. BF;

C-X 9% o HHATA @S I IIed gIam:
a. HFd-FeIh

b. I

c. I

d. 313 & IS T8l
;rmmﬁwa—aﬁaﬂaﬁrmgaﬂ
FAE:

a. C>B>Be>Li

b. C>Be>B>Li

c. B>C>Be>Li

d. Be>Li>B>C
Ufesgss R Fre &

a. fohaTcHs GHg qATGY

b. WW

c aa'crs[@wwm

d. = gaeT

TRATY] FASIT31T T TEY heA &

a. Na>Mg>Al>Si
b. AI>Si>Na>Mg
c. Si>AlI>Mg>Na
a. Si>Al>Na>Mg




34. Inductive effect involves:

a

b,
C.
d.

Displacement of ¢ - electrons
Delocalization of n-electrons
Delocalization of c-electrons
Displacement of m-electrons

35. The following reaction is an example of:

CH,CH,I + KOH (aq) — CH;CH,OH + Kl

oo o

Electrophilic substitution
Nucleophilic substitution
Elimination

Addition

34, RO I8Ta A g 8
o - Solareisl T faTFaTge

a.
b.  n- Selerglel T 3e]ele
c.

G - SOIFEIeT T TG,

d. = - SoIFCle T [aTATTT
35. Aefaf@d 3fRfRar 3eEIoT :

CH3CH21 + KOH (aq) — CH3CH20H + Kl

a. gelerclel Tolg! FTcedTde
b. =IfHF FAgr gfaEaas
c. faeiger
d. gt




